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ECONOMIC PRINCIPLES AND ECONOMIC
PROBLEMS OF INDIA
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PAPER -V
Full Marks : 100
Time : 3 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wl;erever necessary
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1.

2

(2)

Answer any fwo questions from the following :
Ix2
(a) Write few factors to economic growth. 3

(b) What are the obstacles to economic

development ? 3
(¢) Define cross-price elasticity of demand. 3
(d) Define investment multiplier. &

Answer any three questions from the following :
(@) What is production function ? Differcntiaf;< ’
between fixed inputs and variable inputs.
Briefly discuss law of variable proportion.
: 2+2+4
(b) Discuss the features of a perfectly competitive
market. 8

(c¢) Prove the law of demand using Marshallian
approach. Define price elasticity of demand.
6+2-

(d) Briefly discuss the determination of
equilibrium national income. 8
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(3)

(e) Explain the process of credit creation of

commercial bank. 8 -

(/ Mention the different functions of money.
Differentiate between cost push inflation and
demand-pull inflation. - 3+5

Answer any one question from the following :

\ - 15x1
(a) Explain different methods of measuring

national income. Briefly explain the
functions of central bank of a country. 8+7

(b) Critically explain Marginal productivity
theory of distribution. 15
GROUP -B
(Economic Problems of India)
[ Marks : 45 ]
Answer any two question from the following :

3x2
(a) Mention few features of Indian economy. 3
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(4)

(b) Write few measures to increase production
in agriculture. 3

(c) Write some measures to increase employment
in India. 3

(d) What is meant by privatisation ? ' 3

5. Answer any three questions from the following :

8x3
(a) Explain the impact of export promotion and

import substitution in India. 8

() Explain the nature of population growth in
India and its implications for Indian
economy. . 8

(c¢) Explain different measures adopted by
policy makers of India to remove

poverty. 8

(d) Propose some measures to improve marketing
of agricultural product. Briefly explain the
- advantage of land reform. 4+4
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(5)

(e) Write your arguments for and against public
sector enterprises of India. What would you
opt for India small scale industrial sector
or large scale industrial sector ? Write your
opinion. 4% 4

(f) Write a short note on World Bank. 8

6. Answer any one question from the following :
15x1

(a) What measures would you take to arrest

inflation in Indian economy. What is black

money ? What steps the government of
India has adopted so far to control black

money ? What is parallel economy ?
5+3+5+2

(b) What are the functions of WTO ?

Examine the impact of WTO on the Indian
economy. 8+7

[Internal Assessment — 10 Marks ]
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